iy
X . BEYE \(\j-%X-—Sg_\.gg Q

%) W= e (x-s’\(%_,g)qus = WY - FR-FL LT +5 = W)

-1
bY x.X =e
X« € = X & %o ~5% 2T L +i8 =X
e w2 = RAEFR-30 2
e((x-r} = g m=Ye =3CCX'5‘J:€(>‘ s )
=) e = 6

e 23
- ol
X*XI-—G =% X-x‘lnsx—-sx +3c = £
s Fx-2h
x-‘(x—s\:fX—LLr 2 e
X
=l cx ~L8 =\ % | N
s R T % ST
) % ¥ t | x-s -
wog el «18t] F X-r=lHK=8 3 x-§ = =l=3Xx=%

—_—

C\ &{‘- &2_" L ‘*A? ) Cx\‘Csz,_‘_clf AL GTwBE Wekuhoia 6OF Q_u..L 20l$

X id o {xugilg-n) vF.

we ¢ hg-s)+s =5 - w s wy HREEL
Q
£ o QN PJ‘- o1 B =) £ % (MQE = g, VXGZ
L] x, '_\
;{ enegdolXivo.



